[ors
bt

:l:!.

43

L

i)
[

o

[Nl
—t

e

=t
e

2.)

3.)

4

5.)

6.)

7.)

8.)

9.)

10.)

Umrechnen von Einheiten

1CANN ma

FRwi e e

1700 T

n

1w

i
1
i
U2

p
=
i}

=
)
L
=

LN

[

ki
sy

of3
-

1!

5000m =

900 dm =

4dm =

3,6km =

3000 pm =

Jkm =

18dm =

0

]

my

i

3
s

0,

mim

cm

km

cm

mim

cm

!

oo | [y} L i
- e - S L

D
e

[

)
R

2.)

3.)

4.)

5.)

6.)

7.)

8.)

9.)

10.)

L
£
L
Ci

}
w

2000 ma
Z,14

3000 pm =
60 pm =
4km =
43,3 m =
30mm =
S5dm =
12000 cm =
2000 pm =
1210 pm =

{1 ]

L]

]

]

ki
[fa}

-]

i

=
3

km

cm

cm

mim

mim

mim



L

e

Ln
B

ca

in]
e

b}

n
LM

9

C

[
I

9000 pm

60 km

2 dm

5000 m

9S00 dm

4 dm

3,6 km

3000 pm

3 km

18 dm

1000000

9,000

60000

20

5,000

90,0

40

3600

3,000

3000

180

L]

ka

rt

~t

L'}

=}

]

=]

=i

L

cm

km

cim

cim

"y

Sl

0

Ly

'_ZJ'I

Ly

o]

w

[
]

L)

2.)

3.)

4.)

5.)

6.)

7.)

8.)

5.)

10.)

By

L

R

ISUn ma
Coac -
Ty
53.3T

At~
R
7000 mg

S Gy

5000 m

3000 pm

60 pm

4 km

43,3 m

30 mm

5 dm

12000 cm

2000 pm

1210 pm

7 onnn
L

i9.000

5,000

3,000

0,06

4000

0,0433

3,0

50

120000

2,000

1,210

it

]

ki ;
Lx

[{=i}

]

km

mm

km

cm

cm



